

845 West FM 407 Argyle, TX 76226

Date	10/23/2018
E-44-	George Severe
Estimate	george@defendersupply.com
Ву	(903) 564-5641



	Bill To
Williamson Co TX SO	
Micah Koite	
710 S Main Street Ste 301	
Georgetown, Tx 78626	
512-943-3368	

<b>Customer Contact</b>	Micah Koite		
<b>Customer Phone</b>	512-943-3373		
Customer E-mail	micah.koite@wilco		
Estimate #	23554		

#### 2019 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
2019 Chevrolet Tahoe RWD 9C1 Police Pursuit Vehicle with EcoTec3 5.3-liter, Dual Batteries, Heavy Duty Locking Differential, OnStar with Bluetooth Connectivity, Vinyl Rear Seat & Front Recovery Tow Hooks. (No Spotlight) (Purchased Through Holiday Chevrolet).	Vehicle Description	1	32,420.00	32,420.00
Lightbar Units				
GBA - Color of Vehicle - Black AMF - 1 Additional Key FOB 5HP - 1 Additional Keys 5T5 - Rear Seat V76 - Recovery Hooks				
Vin #'s				
Vehicle is Purchased Through Holiday Chevrolet (Johnson – Grayson Automotive) using The Tarrant County Cooperative Contract # 2016-006 - Make Payment to Holiday Chevrolet				
Customer PO #				
Vehicle titles should be in the name & address of: Williamson County Attn: Auditors Office 710 S. Main St., Suite 301 Georgetown, Texas 78626				
Bill to: Williamson County Attn: Peggy Braun 508 S. Rock St. Georgetown, TX 78626				
Unit #'s -				
Tech Note: Please see Customer Supplied Drawing				
Emergency Equipment is Purchased Through Defender Supply using The Tarrant County Cooperative Contract # 2015-157				
Unity driver side halogen spotlight, shaft, handle and mount for a 2015+ Chevrolet Tahoe (LED replacement bulb sold separately)		1	241.42	241.42

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

**Vehicle and Emergency Equipment Total** 

Quantity Ordered 2

Total Vehicle Order Cost \$104,416.00

Page 1



845 West FM 407 Argyle, TX 76226

Date	10/23/2018
Estimata	George Severe
Estimate	george@defendersupply.com
Ву	(903) 564-5641



	Bill To
Williamson Co TX SO	
Micah Koite	
710 S Main Street Ste 301	
Georgetown, Tx 78626	
512-943-3368	

<b>Customer Contact</b>	Micah Koite		
<b>Customer Phone</b>	512-943-3373		
Customer E-mail	micah.koite@wilco		
Estimate #	23554		

#### 2019 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Whelen PAR-46 Super LED Spot Light Bulb		1	162.36	162.36
Federal Signal Valor 51" lightbar only - 51" Valor, All 2-color except		1	1,980.00	1,980.00
positions 15, 16, 25 & 26 (no interface module). Federal Signal Smart Siren Platinum		1	990.52	990.52
Federal Signal DynaMax 100W Speaker		1	177.82	990.52 177.82
Federal Signal ES100 Speaker Bracket, Universal Bail		1	23.32	23.32
Federal Signal Valor Light Bar Hook Kit for a 2015+ Chevrolet Tahoe		1	34.98	34.98
9C1		1	54.70	34.70
Federal Signal Low Frequency Rumbler Siren System		1	407.52	407.52
Federal Signal Rumbler Mounting Brackets for a 2015+ Chevrolet		1	29.15	29.15
Tahoe 9C1				
Federal Signal Micropulse Ultra 24 LED lighthead Dual Color Surface		2	113.775	227.55
Mount Light in Red/Blue - Mounted on Each Side of the Rear License		_	1101770	227100
Plate - Please see Customer Supplied Drawing				
Federal Signal Micropulse 620 - 12LED Lighthead Dual Color Red/Blue		2	89.475	178.95
- Mounted on Bottom of Liftgate		2	07.473	170.75
Federal Signal Micropulse Ultra 24LED Lighthead Dual Color Red/Blue		4	113.7725	455.09
Splithead- Mounted in Rear Side Glass - Two Per Side			20.70	<b>50.40</b>
Federal Signal MPS Side by Side "L" Brackets		2	29.70	59.40
Federal Signal Headlight Flasher for 2015+ Chevrolet Tahoe 9C1		1	46.78	46.78
Federal Signal Tahoe Taillight Flasher for 2015+ Chevrolet Tahoe 9C1		1	0.00	0.00
Federal Signal - PBX Series Push Bumper for a 2015+ Chevrolet Tahoe 9C1		1	370.00	370.00
Federal Signal - PBX Series Pit Bar for Push Bumper for a 2015+		1	439.95	439.95
Chevrolet Tahoe 9C1			100.05	100.05
Fodoral Cianal DDV Corios Duch Dumner Wing Wron for a 2015		1	189.95	189.95
Federal Signal - PBX Series Push Bumper Wing Wrap for a 2015+ Chevrolet Tahoe 9C1 # PBXW-TAH15		1	143.55	143.55
Federal Signal Micropulse 620 - 12LED Lighthead Dual Color		2	82.50	165.00
Red/White- Mounted in Rear Side Glass - Two Per Side - Mounted on				
Top Rail of Push Bumper Federal Signal Micropulse 620 - 12LED Lighthead Dual Color		2	82.50	165.00
Blue/White- Mounted in Rear Side Glass - Two Per Side - Mounted on			62.30	105.00
Top Rail of Push Bumper				
Federal Signal - Dual Color and with 6 LEDs Corner Lights with In-Line		2	58.75	117.50
Flasher in Red/Blue				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

**Vehicle and Emergency Equipment Total** 

Quantity Ordered 2

Total Vehicle Order Cost \$104,416.00



845 West FM 407 Argyle, TX 76226

Date	10/23/2018
E-44-	George Severe
Estimate	george@defendersupply.com
Ву	(903) 564-5641



	Bill To
Williamson Co TX SO	
Micah Koite	
710 S Main Street Ste 301	
Georgetown, Tx 78626	
512-943-3368	

<b>Customer Contact</b>	Micah Koite		
<b>Customer Phone</b>	512-943-3373		
Customer E-mail	micah.koite@wilco		
Estimate #	23554		

#### 2019 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
American Aluminum Full Across EZ Rider K-9 Insert for 2015+ Chevrolet Tahoe 9C1 & SSV with Matte Black Powder Coating, LED, Deluxe Non-Toxic Custom Fit Rubber Liner, LED & Spill-Proof Bracket Mounted Aluminum Water Dish - Passenger Side Deploy		1	2,195.00	2,195.00
Ace K9 Dual Purpose K9 Door Popper & Monitoring System with Heat, Smoke, Carbon Monoxide Detectors, Electronic Window Fan Kit, Power Distribution Block and Heavy Duty Fan Guard.		1	1,713.46	1,713.46
Setina Dual T-RAIL Style Mount 2, Universal XL - Weapon Rack with Handcuff Key Compatible Override with Maximum Adjustability and Versatility - Mounted on Top of Cargo Box		1	280.79	280.79
Go Industries Rear Window Guards in Black for a 2015+ Chevrolet Tahoe 9C1		1	148.65	148.65
Havis Contour Console for 2015+ Chevrolet Tahoe 9C1		1	362.80	362.80
Havis Console Cup Holder		1	26.19	26.19
Havis Console Side Mount Arm Rest		1	43.03	43.03
Havis 8.5" Heavy Duty Telescoping Pole, Side Mount, Short Handle		1	105.40	105.40
Havis 11" Slide Out Locking Swing Arm with Low Profile Motion Device Adapter		1	196.39	196.39
Havis Docking Station for CF30/31 with Built-In Power Supply Included		1	623.10	623.10
Streamlight SL-20L LED Flashlight - Mounted on SIde of Console		1	110.12	110.12
Streamlight Stinger DS LED - 12V DC Steady Charge - Mounted on Side of Console		1	98.09	98.09
3 Additional 12Volt DC Heavy Duty Electrical Power Socket w/moisture cover - Mounted on Right Side of Console		3	6.00	18.00
Compartment Light, Split Red/White - Mounted over Console		1	48.71	48.71
Make & Model of Customer Supplied Laptop - Panasonic CF-31 Does the of Customer Supplied Laptop have Docking Capabilities - Yes Is the of Customer Supplied Laptop a No RF, Single RF or Dual RF - Dual RF with External power supply Does the of Customer Supplied Laptop have a built-in power supply - Wire for power please.				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

**Vehicle and Emergency Equipment Total** 

Quantity Ordered 2

Total Vehicle Order Cost \$104,416.00

Page 3



845 West FM 407 Argyle, TX 76226

Date	10/23/2018	
Estimate By	George Severe	
	george@defendersupply.com	
	(903) 564-5641	



	Bill To
Williamson Co TX SO	
Micah Koite	
710 S Main Street Ste 301	
Georgetown, Tx 78626	
512-943-3368	

<b>Customer Contact</b>	Micah Koite	
<b>Customer Phone</b>	512-943-3373	
Customer E-mail	micah.koite@wilco	
Estimate #	23554	

### 2019 Chevrolet Tahoe RWD 9C1

Vehicle Base Color - Black

Description	Location	Qty.	Cost	Total
Make & Model of Customer Supplied Police Radio - Motorola APX7500/DB/Dash Mount O5 Control head - Customer to Install, Please Pre-Wire for One Piece Radios Does the Customer Supplied Police Radio need to be "Hot", Powered all the time or on Ignition - On Ignition Is Customer Supplied Police Radio a One or Two Piece Unit - One Piece What is the Frequency of Customer Supplied Police Radio - 800Mhz				
Two Way 800 MHZ Radio Antenna & Coax Cable - Roof Mount		1	30.67	30.67
Compartment Light, Split Red/White - Mounted on Rear Liftgate		2	48.71	97.42
C-Tech Patrol Series Rear Storage Box -47" W x 16" W x 30" D - for a 2015+ Chevrolet Tahoe 9C1		1	1,954.32	1,954.32
Window Tint - For Two Front Windows - Please match the tint on the rear windows please.		1	75.00	75.00
Dealer Prep		1	130.00	130.00
Misc. Shop Supplies		1	30.00	30.00
Shipping of Above Emergency Parts for Upfit		1	140.00	140.00
Defender Supply wiring harness, Top Hat Timer and Blue Sea power distribution block				425.05
Installation of Above Emergency Equipment and Customer Supplied Panasonic Arbitrator 360 video system - Tech: Please see the Trigger Mapping Doc loaded in Quick Books.  Customer is doing their own Graphics.		48	85.00	4,080.00
Delivery to Department		1	250.00	250.00
		•	250.00	230.00

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total	\$52,208.00
Quantity Ordered	

Total Vehicle Order Cost \$104,416.00

Page 4